Q FixiT

HP Stream 13-c110nr Motherboard Replacement

The motherboard replacement guide will assist...

Written By: Stacey Deel




INTRODUCTION

The motherboard replacement guide will assist the user in removal and installation
instructions for the HP Stream 13-c110nr.

TOOLS:

Phillips #0 Screwdriver (1)
Spudger (1)

Pick Tool (1)

Magnetic Project Mat (1)

Step 1 — Keyboard Assembly

® (lose the device.

® Remove AC adapter plug from
electrical outlet.

® Remove AC adapter from
device.

® Turn the device off.

® Unplug all external devices
from device.

@ 1f you are unsure whether the
computer is off or in
hibernation mode, start the
computer and then shutdown
the operating system.


https://www.ifixit.com/products/phillips-0-screwdriver
https://www.ifixit.com/products/spudger
https://www.amazon.com/TEKTON-6943-Precision-Pick-4-Piece/dp/B000NPPBQK/ref=sr_1_3?ie=UTF8&qid=1488057780&sr=8-3&keywords=pick+tool
https://www.ifixit.com/products/magnetic-project-mat

Step 2

® Turn the device upside down
with the back facing towards
you.

Step 3

® Use a pick to remove the two (2) large computer feet along the back edge of the device.
@ Use a pick to remove the two (2) small computer feet.
Use a pick to remove the one (1) screw cover.

® Place rubber computer feet in safe place for reassembly.



® Remove the thirteen (13) Phillips PO PM2.5x6.0 mm screws.

® Place the thirteen (13) screws on magnetic mat for reassembly.

Step 5

® Turn the device over with the
front facing towards you.

® Open the device as shown.



https://www.ifixit.com/products/magnetic-project-mat

Step 6

® Insert the Spudger between the Top Cover and Bottom Cover to lift the front edge until
it separates from the Bottom Cover.

@ Do not completely remove the Keyboard/Top cover from the Bottom cover yet.

Step 7

® Disconnect the Touchpad
cable.




® Disconnect the Keyboard Cable.

Step 9

Llnu\nwﬁfnﬁﬁ\ml\ T

9277

® Disconnect the Power connector cable.



® Remove the Keyboard/Top
Cover from the device.

® Disconnect the WLAN antenna cable from the WLAN module.



® Remove one (1) Phillips PO
PM2.0x3.0 mm screw.

® Place one (1) screw on
magnetic mat for reassembly.

‘.0'89;6!0101[ Oow
L00°809Z6.#SdS il
100-00226.'N/d dH
252040420808 JvW 18 §

0D$96IMZ043439:1D

4 Z0 A3y
; T0E9VZLLL
4 152040200908
VW NYIM

z NHAZN{VGNDE SOMd L0 MH o

Z euly) Jo 1onpoig

® Remove the WLAN Module
from device.

£0-89561020ZZ OW .
400" 809Z6./#SdS 3
100-00ZZ64:N/d dH .
25704000909 JVHW 18 %
009951MZO!3H39 12
ZOA3Y
Z0€9VZLLL
1§2040.00%09
DV NVIM

2 NHAZPIEPEWOE SO'Md LOMH i




Step 14 — Battery Assembly

(D IEDSXL) Rechargesble Batiery @ MEO3XL | Rechargeable Battery
WP pant nummm'n:q.@i nsnm-\.ega :

Number 4 89-421 i sy
¥ o Batery PRER anFe e HP part number 7870 g v o WA
FOmUSE mm{?‘:‘u@“g}?‘-‘ﬂmﬁm N Regulatory Model Number &/81/&8:HS 860
YRS e CESRED B CHBA

FAMAY OF COMPJ

Rechargeable Li-ion Battery P&ﬂsﬂl*ﬁ.

[PN-Q156

SPARE 787521-085
ELY Mfg date

B
TN 26125/ 1e

® Remove eight (8) Phillips PO PM2.0x3.0 mm screws from Battery assembly.

® Place eight (8) screws on magnetic mat for reassembly.



® Remove Battery Assembly from
device.

R P&Q A;
3615 OM=4 B4V-0
E162264 _

® Use a pick to disconnect the USB/Card Reader cable from the System Board.



® Remove three (3) Phillips PO PM2.0x3.0 mm screws.

® Place three (3) screws on magnetic mat for reassembly.

Step 19

® Remove the USB/Card Reader board assembly from the device.



Step 20 — Heat Sink

™
o
o
=
o
-
o
&
w
)
=
(=)
T
x

Service P/IN m ]ﬂm”m

833453-001

® Remove two (2) Phillips PO PM2.0x2.0 mm screws.

® Place two (2) screws on magnetic mat for reassembly.

® Remove the Heat Sink from the
System Board.




Step 22 — Motherboard

® Disconnect the Display Cable.

i
I?EPLAC E y PARE
///I/II/// Wi TH HP sp n

C
) ¢ 168p

SANCNIATNEML
fuliths F

® Disconnect the Speaker Cable.



® Remove five (5) Phillips PO PM2.5x3.0 mm screws from System Board assembly.

® Place five (5) screws on magnetic mat for reassembly.

Step 25

® Lift the right side of the System Board and slide it from the device.

To reassemble your device, follow these instructions in reverse order.



